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\nswer 10
F x, —A )
Marks | Frequency (/) | MidValue(x) | 4,=x,—A | &= "5 S, xun
A=455
11-20 2 15.5 -30 -3 -6
21-30 6 25.5 -20 2 ~12
31-40 10 35.5 ~10 1 _10
130 12 A=455 0 0 o
>1-60 9 55.5 10 1 9
o ? o3 29 2 14
- 4 75.5 30 . e
2/,=50 =
Lfu, =7
A=455
2 fu
Men=A+ 37 %10
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Answer 9

Mean = 62.8

and sum of frequencies = 50
Class Frequency (f) Class mark (x) fxx
0-20 5 10 30
20-40 f 30 301,
40-60 ' 10 50 500
60-80 1, 70 70f,
80-100 7 % 630
100-120 8 ! 110 880
Total 30 +f, +f,=50 2M0+Mm+7m;

Sum of frequencies = 50
30 + 4, + £, =50
= fi+4=50-30=20 (i)

Zfixx
Mean = T/

2060+30f, +70f,
50

628 _ 2060+30£; +701;
10 50

628 2060+30£ +70f;
1 5
= 2060 + 30f + 70f, = 5 x 628

= 2060 + 30f, + 70f, = 3140
= 30f, + 70f, = 3140 - 2060
= 30f, + 704, = 1080
= 3f, +7, =108 (1)
(Dividing by 10)
Multiplying (/) by 7 and (if) by 1
7+ 7= 140
3, +7,=108

628 =

=

Subtractingif,=32fl=¥ =8
But f; + £, = 20

L8+f,=20 =>f£,=20-8= 12
Hence f, = 8, f, = 12

Question 10.

Calculate the mean of the
distribution given below using the
short cut method.

Answer 10
|1 O <



Class Frequency | Class mark Jixx
(£) (x)
0-20 - 7 i "
20-40 p 30 e
40-60 10 50 0
60-80 9 70 630
80-100 13 90 1170
Toml 39+ p 2370 + 30p
S £, 2370+30p
Mean = —y 1, = 39+p
— 2106 + 54p = 2370 + 30p
= 54p - 30p = 2370 - 2106 =>
p = % = 11
Hence p = 11
Question 9. ‘

The mean of the fo“nwi@
distribution is 628 and the sum

all the frequencies is 50. Find the
missing frequencies f; and f,.

Answer 9
Mean =

62.8

and sum of frequencies = 50

' Class

Frequency (f)

Class mark (x)

fixx,

0-20

5

O

10

50




ClI Frequency| Mid value A=87.50( fx
f x i X - A

63-70 9 66 50 -3 =27
70-77 13 73.50 -2 -26
7784 | 271 |s8so | -1 |27
84-91 38 [A=87.50 | O 0
91-98 32 94.50 1 32
98-105 16 101.5 2 32
105-112 15 108.5 3 45
Total 150 29

Here A =87.50 and h =7

- 2fu,

X=A+hx ﬁ-

150

2
= 87.50 + 7 x 22 = 87.50 + 1.35
= 88.85 l

Juestion 5. l

he mean of following frequenc
istribution is 21! Find the value c

o 1

nswer 3
o
7 7

CL | Frequency | Mid value | fx \



Frequency

C.L Mid value fx
f X,
0-10 8 5 40
10-20 22 15 330
20-30 31 25 775
30-40 f 35 35f
40-50 2 45 90
Total 63+f 1235+35f
7o Laliti _1235+35f
fi 63+ f
148 1235+ 35f
= 7 63+f
= 9324 + 148f = 8645 + 245 f
= 9324 — 8645 = 245f — 148f l
= 679 = 97f.
679
f= =T ‘
Question 6.
Using step-deviation methc
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Answer 6
Let Assumed mean = 725
CL f MV.(x) | d=x-A fd,

50-55 5 52.5 20 ~100

5560 | 20 57.5 15 -300

60-65 10 | 625 -10 ~100

65-70 10 67.5 5 -50

70-75 9 72.5 0 0

75-80 6 775 5 30

80-85 12 82.5 10 120

85-90 8 87.5 15 120

Total 5¢| 80 -280
Mean = A 2R, 735422 s Lo

=A+ Z )4: =JiD+ R0 =725 - 5 =725-35=69

Question 7.

Using the information given in the
adjoining histogram; calculate the

nearn.

Answer 7
ClL Frequency | Mid value
f X
15-25 10 20
25-35 20 30
35-45 25 40
45-55 15 50 750
55-65 5 60 300
Total 75 2850
: ‘r — -:'-
nd |




C.Il. | Frequency| Mid value 3
f X .
1525 | 10 20 200
2535 | 20 30 600
3545 | 25 1000
4555 | 15 50 750
5565 | S 0| o0
Total | 75 2850
: " &
I
4:
) " X
Class Interval
( = fx = 2-82 =38
df 5
uestion 8.

f

the mean of the following
servations is 54, find the value of

swer 8
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(i) Step — Deviation Method:
'Marks [ No. of Boys| Mid value| A=65 Ju)
_x=A
b/ x | ¥= hy

3040 | 10 35 | -3 30
40-50 | 12 45 | =2 24
50-60 | 14 55 -1 -14
60-70 12 A=05 0 0
70-80 9 75 1 9
80-90 7 85 2 14
90-100 6 95 3 18
Total | 70 =27

Here A=65and h=10

TmA+hx 2l g5 102(27)

21 70
270 27
-GS-W—65-7 =65-3.86=61.14
Question 4.

Find mean by ‘step-deviation meth@

Answer 4

Cl Frequency| Mid valueg A=87.50| fu.

_x-A

b X, U= .

63-70 9 66 50 -3 -27
70-77 13 73.50 -2 -26
77-84 27 80.50 -1 =27

1] O <




s [ No. of Boys| Mid value| A=65 f
_x-A
I x | “T h,

30-40 [ 10 35 | -3 i
40-50 12 45 -2 -
50-60 14 55 -1 -
60-70 12 A=05 0
70-80 9 75 1
80-90 7 85 2 |
90-100 6 95 3 j
Total | 70 | -1 =

Here A=65and h=10

A +hx 2l g5, 102C27)

35 7 70
=65—m=65—£=65—3.86=61.14
70 7

Juestion 4.



Varks [No. of Boys | Mid value A=65 | fxd
f; X, d=x-A -
30-40 | 10 35 -30 |-300
40-50 12 45 =20 |-240
50-60 14 55 -10 |-140
60-70 12 A=065 0 0
70-80 9 75 10 90
80-90 7 85 20 | 140
90-100 6 95 30 | 180
Total 70 -270ﬂ
E=A+%ﬁ=65+ =270 =65-.?'l
fi 70 7
= 65 - 3.86 = 61.14
i) Step - Deviation Method:
Marks [No. of Boys | Mid value| A=65 | /]
u=x—A
f 5 |
30-40 | 10 35 | -3 Z30
40-50 | 12 - 45 -2 -24
50-60 14 55 -1 -14
60-70 | 12 A=65 | O 0
70-80 | 9 75 1 9
80-90 7 85 2 14
190-100) 6 95 3 18




in Rs;)

S,
50-55 5
55-60 20
60-65 10
65-70 10
70-75 9
75-80 6
80-85 12
85-90 8 37.5 15 | 12
Total 80 | — =
s av 2l 5, 2280
S ,f}
Question 3.
The following are the marks

obtained by 70 boys in a class test :
Calculate the mean by :
(i) Short-Cut Method

e ey ™

-, O o

- e .53 09



Answer 2
(i) Direct Method:

Weekly wages| Mid value| No. of | f_)u_i
(in Rs.) X, worker f,

50-55 52.5 5 262.5
55-60 57.5 20 | 1150.0
60-65 62.5 10 625.0
65-70 67.5 10 675.0
70-75 72.5 9 652.5
75-80 71.5 6 465.0
(80-85 82.5 12 [ 9900
85-90 87.5 8 700.0
Total | 80 | 55200

5o Laf¥i 55200 _ oo
fi 80

(i) Short cut method :
MWeaklv wraoee | Nn ~F aretore] Mt utala e | /03]




Age in years | X, Number of | xxf I

C.L students (fi)

1618 17 ER
1820 | 19 | 7 133
20-22 21 21 | 441
22-24 23 17 | 391
24-26 25 3 75
Total 50 | 1074
7= % = % =21.48

Question 2.

The following table gives the weekly

wages of workers in a factory.

Calculate the mean by using :
(i) Direct Method
(ii) Short-Cut Method

Answer 2
(i) Direct Method:

l“fmlr'u lunnnei AA:Ad vralisas l AN~ ~F i



